= AH O
N = 0 & AF & & KNl A
01TEGE X2 3 3 LS| H SMASTIHAIZZRIARA ~ SASCAIRBLIAIRA
S SASCIAIRBEAIR A
M SAZCIHAE S8 29
CHol: =ASTOHAIR e ECRE
SN EB -GS - MBAY - BES 0] &F o 013 o HRE2
SASCOAIRB2IAIR A 703,491 703,491 0
SASCHAIY 52X 29 670,428 671,928 A 1,500
SASCOIAIE 22 648,999 648,519 480
SASCOAIR AlL2D2 577,755 570,418 7,337
201 L2 Y| 244,595 237,258 7,337
01 Al 22/t 17,550 19,050 A 1,500
O1 gutagy 17,550 19,050 A 1,500
Al S OFE A 24 THEH (A 5HEHD])
215 1,320,000 1,320 2,782 A1,462
DI AEAY M A 24X 964,000 964 1,002 A38
2 Zz=294| 207,045 218,208 8,837
O1 ZZe2 ¢ HMA 157,454 150,597 6,857
DAIQI(LBBR-2AR, SYXYE)
2 100,712,000 100,712 98,712 2,000
DEIQE(SAS-HSHED)
21N 8,630,000 8,630 6,480 2,150
DASIAE @2 ZX 34,707,0002 34,707 32,000 2,707
02 da 56,340 54,360 1,980
DEAJA @2 25 55,980,0002 55,980 54,000 1,980
SASCOAIE SHIA 71,244 78,101 6,857
201 LBr2 Y| 22,971 27,121 A4, 150
02 2Z=294| 20,449 26,599 A4 150
O1 ZZe2 < AMAl 14,553 18,049 3,496
e eL2 25 1,862,000 1,862 2,627 AT65
DESIE HA 25 2,651,000 2,651 3,240 A589
DHAX HA 215 1,760,000 1,760 3,902 A2, 142
O3 A& EHISXIHI 7,89 8,550 NG54
DURAIQLIE SIS D 2N
2 5,646,000 5,646 6,300 AB54
206 T2l 4,448 7,155 A2,707
01 X2 4,448 7,155 A2,707
OQAaHBIAIL HE (15000 &)
215 2,639,000 2,639 5,346 A2,707
SASCIHAIR 29 21,429 23,409 A 1,980
SENLF 20,169 20,149 A 1,980
201 LB Y| 17,829 19,809 A 1,980
2 ZZ29| 12,384 14,364 A 1,980
O1 ZZe2 2 HMA 3,264 3,564 A300
DOIEY ME3MH ASS(SEREY)
2E 3,264,000 3,264 3,564 A300
O3 A&=H |Xl 9,120 10,800 A 1,680
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